ERHE- WX FHERUBEERE ISR ERIER]FIE1—1) mEs: §IR6-04
£ M A @ ER RS
o5 | B2 BEEH %g?f FHEE ¥RF&:’15 IR RE
e S | wwewE A s | wwea
1R -REFLIWEE BE 698,400 693,400
mrse [ 4 i ) e B
: _ |
ANE ~698400| /" 693400
1 [Zoaikig 7H 52,000 44,000
2 2
FEH| 3 "
wE|— .
5
g /52,000 /44,000
1 |shbleEs BE /, 115,500 / 70.500](
2 |BEHERBH—ER e 7 369000 /189,000
N
i 4 o
5
N /484,500 259,500
1
. — ; B
E, 3 ]
k" 1———fF———F———1+
- . _ B
Nt 0
(N b cb s e g ) A /" 96,000 /96,000
: . .
+ | 8
B[ 4
; I S S
NG 96,000 96,000
1
s .ttt
XE| 3
Agi—| 4 —
w -
It 0
1 |gAEEY 15 / 1413500 /74000
2 |FEVE=E kS /189,000 < 126000
- : 1
e —
=
5
i 1,602,500 200,000
EIMRAT 2933400 1,202,900}
EERR |meEninasgE A / 628.126] /500000
B o8 3,561,526 1,792,900




